Multiplying a Monomial by a Binomial (A)
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Simplify each expression.

- —3n*(—8n* — 3n?)

9a°(—8a®* + 2a°)

9t (—9h —9)

- 4b(9b° + TbY)

—8v%(3v° + 3v*)

—2a*(—8a® + 9a)

- 7a*(—3a* + 6a°)

—6p(2p° — 4p°)

—2p*(—4p* — 7p°)

327 (—22° + 92%)
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Multiplying a Monomial by a Binomial (A) Answers
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- —3n%(—8n* — 3n?)

— 24n0% + 9n°

- 9a°(—8a* + 2a)

— —72a° + 184%

9t (—9h —9)
— —81h° — 81K*

- 4b(9b° + TbY)

— 360° + 281°

—8v°(3v° + 3vt)
— 2408 — 2407

—2a*(—8a* + 9a)
— 16a* — 184*

7a*(—3a* + 6a*)
= —21a" + 424°

—6p(2p° — 4p%)
= —12p* + 24p°

—2p°(—4p* — 7p?)
= 8p" + 14p°

327 (—22° + 92%)

= —62% + 2727

Simplify each expression.
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